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STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING (SCERT), PUNJAB.
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NATIONAL MEANS-CUM-MERIT SCHOLARSHIP (NMMS) EXAMINATION -2018

FBH msdt (839 Hie) CLASS VIII (Answer Sheet)

Important Instructions:
1) Use only black or blue ball pen for writing/marking.

2) Fill the complete circle like this P @ ‘ @ @

Correct / At =T

3) Write Roll Number and DOB in the boxes
and also fill corresponding circle. X

4) Out of Twelve digit Roll Number the Five ng /a3
digits are already filled and remaining
Seven digit are to be filled by student.

5) All items carry one mark each If your Roll Number is 329180210167
- then darken the circles as follows:
6) Use of white fluid is not allowed AT IT3T IG BET 329180210167
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STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING (S.C.E.R.T.)
PUNJAB, MOHALI

SHaZ-HisH-aH-Hfee rar@afmy tﬁfuw 2018

National Means-Cum-Merit Scholarship Examination 2018
State Level Test - 2018
I Yuet it - 2018
I n &<t (Class VIII)

SCHOLASTIC APTITUDE AND MENTAL ABILITY TEST
 fefprt S Gz W3 WsAE GarST Lﬂftm-l"'

Max Marks:180

Instructions for candidates :

1.

2.

A provxded for this purpose.

This exam in in two parts.

Part - I relates to Scholastic Aptitude Test which J

consists of 90 questions relating to three
subjects listed below :

i)  Science

ii) Mathematics

iii) Social Studles.

Part - II is related to Mental Ability Test whlch
consists of 90 questions.

" Each question carries one mark. All quesﬁdns

are compulsory.

You have been provided with an answer sheet’

(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue ball pen. '

Rough work may be done on the blank space

»!

There is no negative marking in this test.

Do not use white fluid on OMR Answer Sheet.

Half an hour extra should be given to visually
impaired candidates only.
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SCHOLASTIC APTITUDE

What is the nature of an image formed by
a convex lens when an object is placed
between ‘f> and 2f*? :

1. Real, inverted and equal to the size of

the object.

2.  Real, inverted and larger than the size
of the object.

3.  Virtual, upright and equal to the size of

- the object.

4.. - Virtual, upright and larger than the s1ze
of the object. '

Air _ '

1.  Is a good conductor of electricity.

2.  Is abad conductor of electricity.

3. Resists electricity.

4. ' Is a semi-conductor of electricity.

Which planet is mearest to the Earth?
1. Mercury 2.  Mars
3. Venus . 4. Jupitcr

What is the maximw-‘}alue of sound (in .
decibels) after which the human body can

not bear .the sound/ it is harmful for the

ears? ,

1. >20db 2. >40db

3. >60db 4. >80db

S.L unit of temperature is

1. ' Kelvin . 2.  Fahrenheit
3. Centigrade 4. Joule

‘Which part of the eye is responsnble for eye

colour? o
1. Pupil 2. - Comea
3. Ims 4. Retina

Which out of the follong isan example of .

a non-contact force?

1.  Muscular force

2.  Frictional force

3. Attraction and repulsion between two
magnets. :

4.  Pushing an object using hands

»
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10.

11.

12.

13,

14.

15.

16.

1. Venus 2.

LN

3.  Sodium 4,

Which planet rotates from East to Wost on
its axis?

Saturn
3. Jupiter 4. Mars
How many Dynes are there in 1 Newton _
N)? _
1. 106 2. 104
3. 10 4. 100

Disturbances in which layer of Earth are

‘responsible for the cause of light tremors?

1. Mantle : - 2.

_ . Crust .
3. Outer Core 4,

Inner Core

What happens when two clouds of different
charges come in contact with each other?
1. Development of low pressure

2 Development of high pressure

3.  Electric emission
4

Electrolysis
S.L unit of pressure is _
Newton*meter (N¥m)
- Newton/meter? (N/m?)
Newton?/meter (NY/m?)
Pascal/meter (P/m)

Aluminium 2. Germanium

Which of the following is a semi-conductor.
1
3. Copper 4. Wood

Whlch of the followmg is not a Petroleum '

product?
1. Asphalt 2. - Insecticide
-3.  Artificial Rubber 4. - Water gas

Magnesium metal is present in which part
of plant? '

1. Chlorophyll 2.
3.  Water S 4.

) Haemoglobm
Wood

Whic metal is not reactive with acid and
water. . | :

1. Aluminium 2. Platinum
~ Cromium
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17.

18.

19.

20.

21.

22.

Which acid is present in Unripe mango?

1.  Citric acid. 2.
3.  Ascorbic acid 4.

Acetic acid
Tartaric acid

_ Name the raw material of synthetic fibre?

Cotton
Water

1. . Petro-chemicals 2.
3. Wood 4.

Which product is formed after bummg of
Magnesium ribbon? -
MgO,,

1. Mg(OH), 2.

3. MgO 4. MgO

Which gas is not evolved from vehicles?
1.  CO, - . 2. CO '

3. NO 4. SO,

Why immersion rods for heating liquids are

made up of metalli¢ substances?

1. Metals are msulators of heat and
- electricity.

2. Metals are conductors of heat and
electricity.

‘3. Non-metals should be used in place of

‘metal.

4, Metals are malleable

Which base is present in lime water"

1. Calcium oxide

2 Calcium dioxide
3.  Calcium hydroxide
4 Calcium Chloride

Which material is used for coating of

uniform of firemen?

1. Melamine 2.  Teflon

3. Polyester 4. Nylon

Which of the followmg is not a
thermoplastic?

1.  Polythene 2. P.V.C. .

3.  Melamine 4. Ball pointpen -

Out of the following: which one is not a
synthetic material ?

1.- Teflon 2.
3. - Starch 4.

Bakelite
Polythene

17.

18.

- 19.

20.

21.
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.27,

29.

31.

32.

33.

is ,
- 1. DNA 2..

Whlch gas is evolved during burning of coal
in the presence of air? v

1. co 2. CO,

3. SO, 4 HO

In plants, water is transported through

Phloem
Root hair

1. Xylem 2
3. Stomata 4,

In living organisms: the unit of Inheritance
RNA

3. Gene . 4.  Nucleus .

In plants ‘Citrus Canker’ disease is caused
by which microorganism.
1. Bacteria = 2.
3.. Vius 4.

Fungi
Protozoa

Which of the following is not true about

“Liver’.

1. Liveris areddish brown gland
2. Liver is situated in the upper part of
abdomen on the right side

- 3. Liver is the largest gland in our body -

4.-  Liver is situated in the upper part of the
abdomen on the left side.

In leguminous plants Rhizobium bacteria
works as
1.  Spreading of AIDS

Fermentation

2.
3. Fixing nitrogen
4

Producing Antibiotics -

The Ripened ovary in plants forms the

1. Seed 2.
3. Carpel - 4.

Stamen
Fruit

Who discovered fermentation in 1857.
1. . Louis Pasteur

2 Alexander fleming

3. - Edward Jenner

4 Robert Koch

26.

27.
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3s.

37.

38.

39.

Which of the following is not a Endocrine

gland in human beings.
1.  Adrenal 2.
3. Pituitary S 4

Thyroid
Sweat glands

After heavy exercise we get muscle cramps

because
1. Muscles works with the use of oxygen
2. Muscle cells respire anaerobically

3.  Accumulation of Lactic acid causes'.

muscle cramps
4.  In muscles alcohol i is produced

Which of the following is not a viral dlsease '

1. . Chicken Pox

2. Polio

3.  Hepatitis-A

4. Tuberculosis (T.B.)

Which of the following affects the ozone
layer.

1. Carbon-dioxide 2. CFC

3. Soot 4. Dust

During Pasteurisation, milk is heated upto.
1. 9%C 2. 70C
3. 80C 4. 100C

| The cell wall in plants cells is made up of
1. Protein 2. Fats :

3. Plasma 4 4. Cellulose

Match Column A with Column B.

A- ' B
(i) Gram Seeds (@) Urea
- (i) Rice (b) Kharif crops
(iii) Fertilizer (c) Silos

(iv) Storage (d) Rabi crops
(1) i-a,ii-b,iii-civ-d
@) I-d,ii-c,iii-b,iv-a
3) i-d,_ii-b,iii-a,iv-c
@) i-b,ii-aiii-c,iv-d

34.

35.

36.

37.

38.

39.
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41

42.

43.

45,

- 46.
47.

48.

Which of the following statement in false"

1) -7+(-6)=-13
@2 -5+1=4

@) 2+(-D=1

@4 8+(-9)=-1

Find the value of (2% + (2%’

@ o 2 32
3 1 @ 1

32

If each edge of a cube is doubled, how many

" times its volume increase?

(1) 2 times
(3) 6times

(2) 4 times
(4) 8times

7 Rupees 7 paisa can be written in rupees
ast.

(1) . Rs.7.07
(3) Rs.0.707

(2) Rs.7.70
4) Rs.770

~ The folloWing figures repi‘esent

) 1+3 @ 3x1
3) 3x3 @ 3:1
2 - 4

Maxnmum numbers of nght angles i in a
rlght angled triangle are

1 2 @ 1
3 3 4 o
If2"x 3" x 5 = 1, then what is the value of x
1 1 2 1
30 o
3) 30 ' 4 0
Sum of all exterior angles of a pentagon is
a1 90’ 2) 180
3) 360" €))

540’

\

41.

42.

43.

44.

45.

46.

47.

48.

[0}

(3)

3

35 foit mitaget S fagazr asa 7
) -7+(-6=-13
-5+1=4

3) 2+(-D=1

@4 8+(-9=-1
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Q) 32
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32
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4 4
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49.

. 80.

. 51,

52,

53.

If d in the diameter of a circle, then its area
in:- '

1 =d @ nd
4 2
3 nd @ omd

Perimeter of parallelogr:iin PQRS is

1) 12cm (2 7cm
3) 19cm - (4) 38cm
P | Q.

S | 12cm R
Numbers of vertices and edges in a cuboid
are |
(1) 6,6
(3) 6,12

2 68
@ 812

Some integers are marked on a board, what

is the range of those integers.

(1) 31 2) 37
3) 20 @ 3
0 15
-1 17
+20
6 -4 \

Write down the aigebra_ic éxpression for
" . 5 multiplied with P"'.

(1) P-5 @ P-5)
(3 -5P @ P
’ -5

In a class, there are 20 boys and 15 girls.

Find the ratio of girls to boys.
(1) 34 2) 43
3) 115 @ 2011

- 49,

50.

51,

52.

53.

54

a0 d o'y a9 o fanm 39 3t ASgeE 3R

am
1) nd 2 nd
3) md @ 2nd
AHI3T 939gH PQRS e uforry J=ar|
1 12cm - 2) 7cm
(3) 19cm 4) 38cm
P Q.
Tem
S 12cm R
JeqI : '
(1) 6,6 (2 6,8
(3) 6,12 4 812 |
§35 3 fodibit fiyas Afinnet St fegss Aiir
yIT 31 | | -
() 31 Q@ 37
3 20 . @ 3
o 5|
-11 -17
+20
6 -4

"P§—s'ma€raaw”fenm$e‘r |
foima 92761 |

1) P-5 2) P-(-5
3 -5P 4). P_

-5.
fo'a 7 &9 20 48 M3 15 gt IS5
gatt & ffipar e Yoot & Ao 575
WMSUTT U3T I3| -
(1) 34 ~ 2) 43

3) 1:15 ’ 4) 20:1




SS.

56.

57.

58.

59,
~ shows-that 25% children like to play
~ football among them. How many of them

61.

62.

w1

3. Bituminus 4,

How many symmetric lines are there in the

following ﬁgure AL

@ 2

3) 5 @7
A polygon with five sides is called?
(1) Right angle (2) Triangle

(3) Pentagon (4) Quadrilateral

If two ratios are equal then these are in

proportion and ....... symbol is used for this.
@ @ -
3) :: @ #

Find the largest number among 38.88,
8.088, 88.8 and 88.08.
(1) 38.88
(3) 888

() 8088
@) 8808

There are 40 children in a group. Survey

do not like to play football?
1) 10 2 20
3 30 4 35
Write the following in decimal form :-
3 + 10
@ 3.07 2) 3.7
(3) 037 4 370

Which type of coal is consndered the best
coal?
1> Lignite 2. Anthracxte

Peat

Which country produces the maximum
Gold in the world?

1.  Japan 20
3.  China 4.

France
South Africa

55.

56.

57.

58.

59.

60.

61.

62.

() 30

fe'3 ore fa'se fa'e mifirat duret & forest

U q3:-

1 1 @ 2

G 5 @ 7
wmwmﬂgmwwm
(1) mEE - ) f3gw

(3) UdHAgH (4) u3IgH

AT T AGU'S IS TS 3t fea mivs migura
f@'9 95 »3 feast =9t ... foq <t we3
AR

S ()}

(3) i ‘ 4 =

38.88, soss 888»@8808&‘@‘“@‘
#‘a‘t#fwre’m B
(2) 8.088

- (1) 38.88
(3) 888 (4) 88.08
40 Sfaonrt @ AORYE J U B fir 25% ¥
mmmmmﬁmﬁ
. §US UFeET Ye 5t q9e)
a 10 @ 20
@ 35

34% & emmw gy feu fod

2) | 3.7

A 3.07

3) 037 (4) 37.0
gaa#rfamefﬁwazé‘mrﬂfaww
?

(1) feasee (2) Mgnreie
(3) fagian 4) dWe

ﬁmwn?ﬁﬁmﬂwmwéu
fagzr 37

1) suUs - (2) ‘R
(3) s (4) TYST wedaEr



67.

69.

70.

71.

. Where is the Rail Coach Factory (RCF)

situated? .
1. - Gangtok 2. Ludlnana
3. Kapurthala 4. Shimla

After how many years census is conducted

in India? ’
1. 10 years 2. 11 years
3. 20years N 4. . 21 years

Which of the following is not a natural
disaster?

1.  Tsunami 2.
3. Earth Quake 4,

Bomb Blast
Volcano

In which country the "Silicon Valley' is

situated? : _
1. Kenya ' 2. Italy .
3. USA. - + 4. Korea

With which of the following the 'Richter

Scale’ is related to? .
1. Rainfall - 2.
3.  Glacier 4.'

Cyclone
Earthquake

Which type of farming is also known as-_

'Jhum-Cultivation'?.

.} - Shifting cultivation - :

2.  Sedentary type of farming
3. Mixed farming
4.  Sugarcane cultivation

‘Which of the following is not a 'fibre crop'?

1.  Wheat 2.  Cotton
3. Jute 4. Sunn (Hemp)

Which is the main ship building centre"
1. Vishakhapatnam 2. Delhi
3. 7 aipur . 4. Chandlgarh

What is the population density of India as
per census 20112 .

1. 282 persons per square kilometer
2. 482 persons per square kilometer
3. 382 persons per square kilometer
4, 582 persons per square kilometer

- 63.

64.

65.

66.

- 67.

68.

69

70.

71.

3% &9 Saedt fad 37
(1) derea (2)
(3) TqYdEs" (4)

Fforar

s

mhmﬁ%n@ma‘m
A 7

(1) 107 (2 11A®

(3) 20A® (4 21°A%®

35 fefit {3 faot geaadt mrea st I?
(1) mant (2) fFOoHar
3) FEs. (4) wATHIHY
fretars wet fao3 on &9 Afag 37
(1) aastar (2) feeml

(3) GMHE (4) Gdbr
fages twd er ndy I3 fefipnt &S fane
58 I7. | |
(1) <@ (2) T3

(3)  IBHMMT (4) g9
wamm;wwﬁww
3

(1) FE-H3d et ~

(2) . Evel @S T

-(3) fymes uSt ‘

(4) 3 S uSt

;.a'a'fs“fu»rrfe'é‘ma‘r Wed ewE’ &I I?
(1) dF (2) aua

(3) UeHs (4) RE
gﬂ?ﬂaw?wma'eafmsr
? .

(1) femyueaw (2) fest

(3) AYT (4) g

r‘wzon a‘immme‘tﬁ'

w3 f&ar 97

(1) 2821‘%»@31113?%3371%@1123
(2) 382 fenaat Y <aar fadHies
(3) 482 fewadt Y= <gor fadites
(4) 582 femaat 3t <gar fadites




72.
73.

74.
75,
7.

77.
78.

79.

80.

)

(1) Palmu

A

When the Pitt's India act was passed?

(1) 1770 AD. (2) 1773 AD.
(3) 1784 A.D. 4) 1788 AD.
In which state Indiéo revolt spread?
(1) Bengal - (2) Bihar
(3) Orissa

(4) Punjab

When the first coffee garden was
established in India?
(1) 1830 AD.
1850 A.D.

@
C)

1840 AD.
1860 A.D.

In which year Hmdu widow Remarnage
Act was Passed?
(1) 1854 AD.

(3) 1858 AD.

1856 A.D.
1860 AD.

2
C))

The police department was set -up by

.whom?

(1) LordRippen  (2)
(3) Lord Cornwallis (4) Lord Dalhousie

- When tile(Muslim league founded?

1906 A.D.
1879 A.D.

1900 A.D.
1970 AD.

(D),
3)

@
@)

Who was the leader of Khasis Tribe?

"~ (2) Tirut Singh
(3) BirsaMunda (4) Gaund.
Who started Ahmadiya Movement?
(1) Gulam Ahmed '

(2) Mirza 4

(3) Mirza Gulam Ahmad

(4) Ali Ahmad '

‘Whois known as ’Prophet' of contemporary
~ Andara Pradesh?

(1)
)

Jyotiba Fhulle
" Veer Salingam
Sri Narayan Guru

(4) - Periyar Rama Swamy

Lord Wellesley v

10

72.

74.

75.

76

717.
78.

79.

80

. (4)

fuew f&sr viae ae* uw Sfenr?

(1) 1770 €. (2) 1773 €.
(3) 1784 . - (4) 1788 &,
. B8 fewda faga v f&g Homm?
(1) fW[rs 2) foe
(3). €3t (4) Umg
mfe?a?e‘twu&wwa?m
Sformre

(1) 1830 &t (2) 1840 .
(3) 1850 €. (4) 1860 €.
feg=er-yas fents wae ae yw Ifemm?
(1) 1854%t. . (2) 1856°%t.
(3) 1858 &t (4) 1860 €t.
. yfew fegmar @t rarysT fans siat?
(1) »3 fous '
(2) BIT TBABT

(3) BT TISSIEH

(4) B9E sBIH
yafer Bter & reyaT g ety
(1) | 1900 &, (2). 1906 &,
(3) 1910 &t. (4) 1879 &,
YTHIRN T3 &t Het d= A

(1) usy (2) 3w
(3) fawwgsr (4) dfs
mmmmsggm?

(1) IBH sfowe

(2) fiaar

(3)- fraar IBH mfowe

»rs‘t»rﬁm? '

fané‘mmnﬂuarq@srém?m
- fagr grar 37

(1) nfsared

(2) ST nfdans

(3) Fﬂmrfeam

ydtHTg e et

(4)



81.

82.

83.
" (Supreme) in India?

8s.

86.

87.

A3) Consti;ution .

Who wrote 'Anand Math'?

(1) Madhusuddan Datta

(2) Munshi Prem Chand

(3) Bunkim Chandra Chatter Ji
(4) Ravindera Nath Tagore

When the Gadar Party was established?
(1) 1913 AD. )
-(3) 1915AD. - 4

1914 AD.
1916 A.D.

Who among the following is the highest
(1) Judiciary (2) Prime-Minister
(4) President

Which Article of Indian constitution
provides six kinds of freedom to the
citizens? . :
(1) Article - 19
3) Article - 22 - C))

(2) Article- 14
Article - 25

'Right to Free and Compulsory Education’
is given under which Article of Indian
Constitution and which age group of

‘ children are covered under this right.

1~ ‘Article22 - 10 t020 years of
children age group.
(2) Article 21-A - 6 to 14 years of
N - children age group.
(3) Atticle 25 - 10to 15 years of
' children age group.

(4). None of the above

Whlch organ of Govemment is regarded as

the safeguard - (W atchman) of constltutlon"
o Leglslature ’
- (2) Executive

(3) Govt. High Officers
(4) Judiciary

How many members are elected from
"Punjab’ for Lok Sabha and Rajya Sabha?
(1) Lok Sabha-13  (2) Lok Sabha-7
Rajya Sabha - 7 Rajya Sabha - 13
(3) Lok Sabha - 545 (4) Lok Sabha - 17
Rajya Sabha - 245 Rajya Sabha - 9

81.

82.

83.

84

85.

86.

87

11

wée Wo fans fafinr?
(1) HOEESs 83T

(2) H&H UHYge
(3) &fa 9a9 9caAt
(4) IeoogzENT

IreT ygd &t AEusT g Jet?
(1) 1913 8. (2) 1914 &t.
(3) 19158. = (4) 1916 €.

933 fe'g I fefimt fe°F deme e d?
(1) fouiufgar  (2) yors W&t
(3) Frfewa . (4) dJIWHeIUS

mﬁﬁﬁwé'ﬁnn@é?a'ﬁmlﬁa*t |

émwmfe@nﬂmm?
(1) MFET19dd (2) WgeT 14 I<T
(3) wgee 2299t (4) maaT 25 It

yaa@aaa’rfnfum"’a*mfumﬁfeumé
mmmwwémw
HHS 13T fapir 97

(1) Wzae22 - 10T 20F83a
S gfgur et

(2) WEEeE21-¥ - 6F 14N ITT
gfomr st

. (3) "MEeT25 - 10F 15 B ITT
gfomr et

(4) Gusa3 fev fan arat &at

maffaasrﬂmﬁfawauhm
Wfsmrmerd?

(1) feus ufsar

(2) drenuTEaT

(3) ATt €9 mend

(4) fomtufear

Ty’ f&F 8 A9T T I A9 B9 fag-

faﬁ#aaa@w%am |

(1) ST HST - 13 (2) BIHIT - 7
JHAST- 7 JHAAST - 13

(3) BIAIT- 545 (4) BIAAI - 17
IH HST - 245 JHAIT -9




The case that is filed by keeping in mind

the interest of the common man is called?

(1) Public interest Litigation.

 (2) Civil cases

89.

(3) Criminal case
“4) ‘Commqn case

What is the main root-cause of the Division

~ (or Partition) of India - Pakistan in 19472

(1) Racism or Casteism

(2) Poverty

(3) illiteracy .
(4) Communalism

Since how long is the election campaign

. stopped before the time of voting?

(1) 12 Hours
(3) 24 Hours

(2) * 48 Hours
4) 36 Hours

MENTAL ABILITY

Directions (Question 91-100) - There is a number

~ series following a pattern. One place is left blank. -

Find out the correct answers from the options.

91

92

93

9

95

1) 57

2,3,7,16,327 -
2 37

(3 48 C))

11,13,17,19, 23

1 26 2) 37

3) 27 4 29

1,9,17,33,49, 73

D 9% 2) 97

3) 99 4). 98

- 73.5,705,67.5645 - .

D 615 2) 625
3) 595 4 605
27,64,125216343,
1) 519 2) 512
'3) * 521 )

459

12

88.

89.

90.

- (1)

o AEIT @ g § W S R B3 aen g

- faga yaeour afde aa?

dieval Haenr
AT Haenr
M HaeHT

(1)
@)
(3)
(4)

W—m#mwwy’uma‘i
(A '

e

(2) aetEt

(3) wsuFIT
(4) Huaefeasr

éeyﬁwn*ﬁzm,éz*ﬁz?h#w%
ufaa*éeaafa%r#af&?v -
(1) 12dR (2) 48uR
(3) 2442 (4) 36uR

WafAa darar

f530m (yE® 91-100) I5 fod ymat fegiaret |
o' =t fo'dh ot 3wt fe's el 34 few fd
§ fours fa's i & st & yor agw Bt s

3t S Qs d=a7 |
91 2,37,16,32? y.
57 2 37
(3) 48 @ 55
92 11,13,17,19, 23
) 26 ~ 2) 37
3) 27 4 29
93 1,9,17,33,49, 73
1 9 2) 97
3) 99 4 98
94 73.5,70.5, 67.5,64.5
) 615 2) 625
3) 595 4 605
95 27,64,125,216,343 ,
1) 519 2) 512
3) 521 4) 459



96 9,81,90, 810, 819, ‘
D 7371 '2) 900
3) 8100 . 4) 1638

97 1,1,66, 11,11
) 11 2 13
3) 16 4 17

98 432,128

1) 128 2) 144

3) 192 4) 256
99 4,10, 82244730

n o4 2 28

3y 11 4 218

100 4,9.20,43,90,

1) 180 2) 182
3 179 4) 185

Direction (Q. 101-105) According to the specific
pattern fill the blank spaces -of letter series.in

. the following questions. -

101. a__bab _a_b ___abb

1) baa ~2) aaa
3) bbb 4) aab
102. T CN P__NT __.C.
" 1) PNICT 2) TCCTN
3) NPTCP ~ 4) NPCPT
103. aaa__ _b_c _d__ _ ___e
1) bbccddee - 2) ccbbddee
3) ccddbbee . 4)  cbcbdede
104. kab __ aka _ba __bb_ka _ _.a
1) bbkaabb 2)  bkaabbb
~3) bkbaabb . 4) bbbkaba
105. 1_n__mlm _n_1
1) mnmn 2) mnnm
3) mnmm 4) nmmm

13

96

97

98

99

100

9,81,90, 810, 819,

nH 7371 2) 900
3) 8100 4) 1638
1,1,66,11,11

) 11 2) 13
3) 16 - 4 17
432,128 | .
) 128 2) 144
3) 192 4 256
4,10, ____, 82,244,730

) 24 2) 28
3) 77 4) 218
49204390, o
1) 180 2) 182
3) 179 4) 185

fadew (Yis 101-105) Iat fadhut et oiyg
- St fEe mmmwmﬁs I

YT NFATT |
'101. a___bab__ab___abb |
1) baa 2) aha
3) bbb 4) aab
102. T CN P_NT _C
1) PNTCT 2) TCCTN
3) NPTCP 4 NPCPT
103. aaa __ _b_'c —d__ _ ___e
1)  bbceddee 2)  ccbbddee
3) ccddbbee 4) cbcbdede
104. kab __ aka _ba _bb__ka __ _ a
‘ 1) bbkaabb 2)  bkaabbb
3)  bkbaabb 4) bbbkaba
105. 1. _n_mlm __n_1

1) mnmn 2) . mnnm
3) mnmm . 4) nmmm




106. According to dictionary'order what will come

first ? v
(1) CHAIR (2) CHARM
(3) - CHAMP . 4)- CHAEN
107. Accordmg to. dlctlonary which word will come
~ at'third place
1) CLIENT 2) CASTLE
DAZZILE 4)

3) FACE

Direction Question (108-109) whiéh of the

following words cannot be made from the word

108. CONSTRUCTION

(1) SUCTION (2) COINS
3) CAUTION 4) NOTION
109. PRINCIPAL o :
1) APIL 2) CIPLA
~3) PLANE 4) 'PLAIN
110. How many 5's are there in the following

number sequence which are immediately
preceded by 7 and immediately followed by 6

756 945 764 598 756 764 325 678

2 2
4) 4

1
3) 3

Direction (Q 111-118 ) What will come in the
place of question mark (?) in the following

questions . S
111. ) | N
Ju0) 0) ©
0 < — 0 ©
® ® 0,
) 27 ) 42
3) 57 37

. 4)

14

106. »mﬁﬁmaavmfawmuﬁw'
g ?
(1) CHAIR
(3) CHAMP

(2) .CHARM
4) CHAEN

107. #aidd HEEdw wEHd fagaT mae Jing
RS 3 wr=ar. ?
1) CLIENT.
3) DAZZIE

CASTLE
FACE

2)
4)

f599w (yEa 108-109) fe2 a1 mue @ wiyet 3
%,Mﬁ%‘faawmaﬁmwm?

| 108. CONSTRUCTION

(1) SUCTION = (2) COINS
3) CAUTION 4) NOTION
1109. PRINCIPAL
1) APIL 2) CIPLA
3) PLANE 4) PLAIN
110.%@%%5&%@@#&33 :
faw fg e 5 3 ufast 7 wr@er 32 m@
Wﬁ?’ﬂﬂ6’ﬂ'@?ﬁé’l

756 945 764 598 756 764 325 678

) 1
3) -3

2) 2
4 4

ﬁm@u(t{m 111-118 )t{a?rrfa'at{aafﬂae‘r
a7 (?) 39 : :

111. ,
| ® o) o)
<@<@ o]
| ol o) ©
1) - 27 2) 42
3) 57 4) 37



112, .
o 112. "
R 5 R 5
E 18 E 18
, AN
1) 4 2) 7 1) 4 2) 7
3 9 4 1 3) 9 4 1
113. | 13, _
1 2 3 1 2 3
o | 7| s o | 7 | s
80 | 45 | 2 g0 | 45 | 2
n 17’ 2) 16 17 2) 16
3). 19 4 15 3) 19 4 15
114 . 114
1|3 | 7 1| 3|7
5° 12 14 5 12 14
25 | 2 | 28 | “as 2 | 28
125 | 192 | s6 125 | 192 | 56
1) 40 2) 48 1) 40 2 48
3) 56 4 64 3) 56 4) 64
115 115
D 0 2) 8
3y 125 4 216
116 116 | . |
oD o192 29
3 T8 4 48

15



117

1)

118

119.

'120.

121.

122.

123,
\ 1)

18 2) 6
3) 4 4 3
8 7 7
6 2 54 6
3 8 10
1) 42 - 2) 46
3) 48 4 50

If FISH is written as EHRG in a certain
code . How would JUNGLE be written in

~ that code. .
1) ITMFKD 2) ITNFKD
3) KVOHMF " 4) TIMFKD

' If COMMON is wiitteh as DQPQTT ina

certain codé . How would PROPER be
written in that code .
1) ' QTRTVX
3) QRTXIT

QTRTIX
XJRTQT

2)
3)

If ACELDNRA is written as CALENDAR
in a certain code. How would LEGIBLE be
written in that code.

1) ELIGIBLE - 2) LEGIBLE
3) ELIGIBEL 4) LEGIBELI
IfADD =3 then CIM = ?

D 9 2 17

3) s

4) 6

If ROOT = 68 then STEM = ?
55 2) 57

3) 58 4) ‘54

- 117

118

119.

)

- 1200

16

121.

122.

123.

g I T
2 6 2.54@6
o 3 AT

3)

2)
4

1) -
3) 4

w N

6
42
48

) .
4 50

#vrg faRt &5 49 FISHE EHRG fashonr

ater § | @Rt &9 fe'S JUNGLE sfai'

fafipr @3 |
ITMFKD 2), ITNFKD
3) KVOHMF- 4) TIMFKD

ﬁ'da'fdi'i?ﬂ'UCOMMONﬁ' DQPQTT
fehmr ater3 3t QR B fa'e PROPERﬁ'
fa?' fafipnr wrdar |
1) QIRTVX
3) QRTXIT

2)
3)

QTRTIX .
XJRTQT

A59 faR &% fe's ACELDNRA
CALENDAR fefipir ter 3 3t @it §w fe'g
LEGIBLE § fa®@" fefipur aridar |
1))
3)

ELIGIBLE
ELIGIBEL

LEGIBLE
LEGIBELI

2)
4)

A%T ADD =3 3* CIM = ?
D 9 2) 17
3) 5 4 6

Aa3 ROOT =68 3*STEM = ?
1) 55 2) 57
3) 58 4) 54



124.

If in a certain code Language 'GEAR' is

written as 5914 and 'ROUTE' is written as’

47289' then how will 'GATE be written

~ in that language ?

3

5187
5289

1) 2)

4)

5189
5429

Directions (Q 125 -128) There are 5 Teachers in
~ aschool .

125.

126.

. 127,

128.

129.

130.

i) AandB teach Hindi and English :
(ii) C and B teach Geography and English-

(iii) D and A teach Hindi and Mathematics

(iv) E and B teach History and Punjabi

Which teacher teaches maximum subjects?

1) A 2) 'B

3) C 4) '
'Whichteacherteachesonly Geography and
Enghsh ?

1) 2) B

3) C 49 D

‘Which subject is taught by more than two
teachers :

1) History - .2) Hmdl

3) Punjabi 4) Maths

Which teacher teaches less than two
subjects ? :

1) A 2) B

3) C . 4) None

Deepak stood on 17th place from the end
in a bank queue and from front he stood
at 6th place. How many persons were

standing in queue ?
1) 20 2)
3) 21 4) 22

In a certain code ',langhage meaning of 467
is 'Plants are Green' Meaning of 485 is
“"Green is God' and meaning of 639 is "The

are playing ' . How is plants written in that '

code .
1) 4 2) 6
3) 7 4 3

126.

124.

foait & o fe'e GEAR 3‘ 5914 fsfu»rr
#wter 3 »3 '"ROUTE' § 47289 fafumir ater
3 a'fenwfa*a'GATE' §'fai'fsfu»r

AT ?
1) 5187 2) 5189
3) 5289 4) 5429

fsaew (yas 125_—128 ) fEa Ags & IF feru

96 |

125.

b

127.

128.

129.

130.

17 -

() A3 B I3 wERt ug€e IS
() Cw3 B FIS I AR UFES T5
(i) D3 A fiet w3 forre uz79Q a5
(v) Ew3B foredt w3 It uF Qe I=|

fagaT wifgwrug 7 2 <1 fad ug@er 31
1) A 2) B :
3) C 49 D
faaar»rfn»mfnwgﬁs»@ﬂm%a‘r
uFQerd |

A 2) B
3)) C 4 D
fagar feur & 3 Sunforyg u@e I5 7
1) foredt - 2) fo&t
3)  UarHt 4) fome
faaa mifewru & 3 we feid ug@er 3 ?
1 A 2) B
‘3) C 4) F&@ s
e dx feg st aeo fegfisd yvn 3
17 AEs 3 3 3 wad uR 3 €T
e 3 a9 fee fas femadtasr
1) 20 2 23
3) 4) 22

21

fait guT fe'g 467 T #gw T 'Plants are
Green' 485 T 3% & "Green is God' »3
639 T »JE I 'The are playmg R 3"'Plants :
ardF TR
) 4
3) 7

2) 6
4 3




Directions. (Q: 131-133) Read the following
lnformatlon in the dnagram and answer the

- 134.

- 138.

the quadrilateral.

turning to his left he walks 3Km. Again
turning to his left he walks 3Km. In which
directions he from the starting point?

(1) North (2) South
(3) East . 4) West
Simar Travels 8 Km to the South. Then he

turns to his right and walks 5 Km. Than
again he turns to his right and moves 8 Km
forward. How many Km away he from the

- starting point.
1 7Km (2 6Km
(3) 5Km - (4 4Km

questions.
7
_131. Find out the number that lies inside all -
figures. : ,
m 2 @ 5
G 1 @ 8
132. Fmd out the numbei' that lies inside two
. different figures.
(1) 4,1 2 5.1
3 59 @ 91
133. Find out the numbers that lies only inside

(1) 48 - L@ L4
® 47 @ 12
A man walks 3 Km toward East. Then

18

ﬁsa@w(t{a?nn 133)3a*ﬁ,'—e'1mva’r§u§
wByEste @safedt

- 131.

132.

133.

134.

13s.

w3 8 fadies T 31 g wuS S5

(1) 7 fadies (2)
(3) sfadies = (a)

Qirnhawﬁ W»rrfq:-fhﬂfa'enga
a1 :

a 2 2 5

3 1 4 8

Qv ne faad 95, ﬁ@uﬁaahﬁe‘té‘w—
Y wrfgIhat fe'e ige 51

1 4,1 2 5,1

B3) 5,9 @ 9,1

89 i e 7 3= 399w fe'u ige 951
1) 48 2 1,4

G) 4,7 @) . 1,2

fex feash 3 fadites yag <% wter 3,
fes ¥'8 wit y= & €7 3 fadrites TBer 31
fes Tarar Qo u'd Uit y=a 3 fadiea v

~€r|me®ﬁ?3‘ﬁmas‘tg€hwhw
feed?

(1) €399 2) Tu=

(3) y9w (4)

(%)

UsH

i 8 fadrfies Sus T3 yR Toer I3
fes Qo 7% wit y= wter § 3 5 fadfies
g&er 31 fe7 Qv W@ /A umht y= AT B

T8 nrafde fig 3 43 fadleg ga 37
.6 fadtea
41'mimﬁzaf

B e



136.

137.

138.

139.

A man is facing North-West He turns 90
in the clock wise direction and then 135 in
the antl clock wise direction. Which

direction is he facing now? ‘
(1) East - (2) West
(3) North (4) South

What is most essential in a train.
(1) Driver (2) Passenger
(3) Fans (4) Engine

If 'blue’ means green 'Green' means 'white',
‘'white' means 'Yellow', 'Yellow' means
'Black’, 'Black' means 'Red’, 'Red' means
'‘Brown' Then what is the colour of milk?

(1) .Black (2) Green
- (3) Yellow (4) Blue

Kfa=+b=-,c=x,d=+Then

18c 14a 6b 16d 4

(1) 63 (2) 254

(3) 288 4 1208

140.

141.

142,

143,

(7P3) Y6x5 ,
@ s (2) 10-.
3) 15 4 20 .
IfA=+ B=-,C=xandD =x, Then
18A12C6D2BS o
1 27 2 18
(3 17 4 15
Find the correc( group of signs to solve the
Equation.
5210?25?25
®n -,5= (2) -, h =
(3) ":'"a‘_T (4) =-,F ’
12222422 ~ .
M =+ @ =-.+
B +-.=

Ifx=+Y=-2=%P=xThen

(4) =, -

142

19

136.

137.

'138.

139.

140.

141.

143.

fe'a fonast € 39-yeH ferr errraWeT a9
faor 31 €9 w=t St gEbut € fewm nigg
90° 3 yF famir i3 feg 135wt ot gret
&t €ze fenr migne y= fomrr, g @9 faw
femrer AraveT a9 faor 37

(1) Yo« (2) uev

(3) €3@ - (4) Tue

faﬁéwmﬂfa'aéa*fsfuwfaﬂ‘naa“
frmper aget &t 37
(1) SIdi<d

(3) u¥

-
feme

@)
(4)

asT WIBY ‘TIT, I HIww faer, faer
H35Y UIBT, WIsT H33Y T8, 8T HIBT
‘gar’ §@ 3t g o Jar ot I2I?,

(1) & (2) I

(3) uisT (4) BT

Aa=+b=-,c=x,d=+3F
18c 14a 6b 16d 4
(1) 63.
(3) 288

254
1208

@
@

A x=+Y=-z=%P=x3t
(7P3) Y6x5 '
M. 5
(3) 15

10
20

V)
4)

ﬁT:IH'A +B=-,C=+ns/D= x,ﬁ'%s*
18A12C6D2B5

(1 27 () .18

3 17 @ 15
mmmwmwvm/
g o<t AT BS1

5?10?2525

1 -,+= 2) -,+=
3 +-,= @ =-,+
12222422

@ -,=+ 2 =-,+

3 +-,= @ +=-



Directions (Q. 144-145) which of the following
word can be formed from the given word.

- 144. MEASUREMENT

(1) MASTER  (2) MENTAL

(3) SUMMIT 4) ASSURED
145. IMMEDIATELY 3

(1) DIALECT  (2)- LIMITED

(3) DIAMETER. (4) DICTATE

Directions (Q 146- 148) Read the followmg
statement carefully and give answers.

In a family of Five members Udhav is oldest among
~ all and Abhijot is youngest among all members
Yuvraj is older than Abhijot and Gourav is older
than Abhineor but younger than Udhay.

146. Who is younger than Gourav but older than

Yuvraj?
(1) Gourav (2) Abhljot
(3) Yuvraj (4) Abhinoor
147. Who is younger than both of Udhav and
Yuvraj?
(1) Gourav (2) Abhijot
(3) Abhinoor - (4) Udhav
148. Who is the middle member among them?
(1) Yuvraj - (2) Udhav
(3) Abhinoor (4) Gourav

Directions (Q. 149 - 150) Select the combination
of numbers so. that the letters arranged
accordingly will form a meaningful word.

149.K L M I

1 2 3 4 ‘ _

1 2,431 @2 2,41,3

3) 3,4,1,2 @ 3,421
15. T R I F U

1 2 3 4 5

(1 53,214 (2 42531

3) 4,3,2,1,5 @ 3,1,2,4,5

(1) - des (2) wifgwz
(3) 9w (4) wfage
\ 147.&03»’4‘839«»@9:3@_@??#3?'
' (1) diee (2). mfeaz
(3) wfgge (4) Gue
148. fegaasr Ngg d= 7
' 1 gead = (2) Gu=

20

fseew yus (144-145) 35 fo8 yEst f&S mit

€97 92 3 fo'Y muet 3 wfowr 3
144. MEASUREMENT
(1) MASTER . (2) MENTAL
. (3 sumMIT (4) ASSURED
145. IMMEDIATELY
() DIALECT  (2) LIMITED
(3) DIAMETER (4) DICTATE

fs3ew yus (146-148) I5t fe'3 I8 qus § fonrs
yIex yge 3¢ €39 feb

fex ufseo & M g RS Que e T &5 &
W3 wfgH3 Ag 3 &7 I g_aH mfeis I <37
3, dlow, wifsge ¥, Wwue F & d

146.alae§‘ézr,uagaa-ﬂ§‘a%rfaaafﬁ‘aa
1

- (3) wifgge (4) dla=

fssew yws (149-150) et = wfear myT g8
hnmw#wgaaa‘taﬁm‘rﬂ'é?&e‘r
mmai‘l

1499.K L M I
1 2 3 .4 \
(1) 2,4,3,1 2

2,4,1,3
3 3,412 . (@4 3,421
150. T R I F U
1 2 3 4 5
1) 53,214 . (2) 4,2,53,1
3) 4,3,2,1,5 4 3,1,2,4,5

-t m v e e



- Directions (Q. 151-153) ‘which of the following

diagrams cdrrectly représents the relation -

between glven three words

(1) ” (2)

@O Qo
' NE)) @

151. Furniture, Table, Chair

(1 1 Q2 2

3) 3 @ 4
-152. .'D'ay, Week, year -

n 1 Q) 2

@ 3 @ 4
153. Elephant, Cow, Animal
oo 1 Q@ -2

3) 3 : @) 4

154. An old man's son is. my son's uncle then
what is relation of old man to me.
(1) Brother - . (2) Son
"~ (3) Grand Father (4) Father -

155. A is the Brother of B. B is daughter of C, C
is wife of D. What is D's relation with A.
(1) Father (2) Brother
(3) Grand Father (4) Sister

156. How many triangles are in given plcture

@ 5
@ 7

(1 4
3) 8

21

fsaen yEs (151-153) Ist f'd o fa'get fe'd
hwh’samfa%fv%méféxmwm‘t
nﬂtraan'@‘era? '

(2)

@
2 2
@ 4
152. fes, 783, A%
@G 1 ' 2 2.
®» 3 @4 4
-153.ara1,éﬁ,wm ,
a 1 2 2
3 3 | 4) 4
,154.%@WM‘%W&|
- €T 979 Wt Har &t BIreT 37
1) T . * (2) U9
fugr

(3) ¥« (4)

155. Awanwlnmacagcm%nal

- DATEABIEI?
(1) fusr (2) o
(3) avar (4) 33

156. fo'g9 fe's fadet & Afimm &7
1 4 "(2) 5
3 8 @ 7



© 157. The morith of December in a year starts -

with Sunday. Which will be the last day of

that month ?- v
(1) Sunday () Monday
(3) Tuesday (4) Fnday

Dlrectlons Q. 158 165) In each of the following

- questions there is a relationship between two .

figures/ letters/ numbers on the left side of the
sign ::, The same relationship exists between the
two, to the right side of sign ::, Find the correct
alternative. E

158. Farmer : Field :: Clerk: .
)) -foice , (2) File
(3) Pen ‘ (4) Desk

'159. PALE : LEAP :: POSH : ?

(1) HSOP (2) POHS

(3) SHOP (4 POSH
'160. CAT: DDY :: BIG : ? _

(1) CLL . (2) * CLM

3) CMV (49 CEP
161 04:27 :: ? : 125 N

1 36 2 64

(3) 16 @ 48
162. 21: 3 32 574 : ?

- (1) 23 2 82

3 97 4) 113
163. Question Figures:

NN N ?

| Answer Figures:

o o . 0 @)

22

157. ﬁaafaﬁwfa'eeﬁaaarmﬁww

mggﬁé‘s*fenm?mmhaw
I ‘ .
(1) #HITT (2) FHET,

. 7

(3) VImB=Ed (4)-

fsaew (yus 158-165) 35 fod ywat f'e fomrs
= @ YA YR @ fg9t et /miyet i€ Rdu rerfug
I AH yR € Afont feg @ €9t wiw marfug
g9e g fe3 aléfaawufe“ﬁ'na‘tﬁame'rﬁs
adl

| 158. fams : 43 : q@IA : ?

(1) €39 2) efew

3) U (4) 3wa
‘159. PALE : LEAP :: POSH : ?

(1) HSOP (2) POHS

(3) SHOP . (4 POSH -
160 CAT: DDY : BIG : ?

(1) CLL @ M

@) MV " (4) CEP
161. 04:27 :: ? : 125 ,

Mm 36 (2 64

3) 16 4) 48
162. 21: 3 3 574 : ? -

(1 23 ¢ I )

3 97 A @ 113
163. yus fe'gg
SNERNEERN ?

%,

NS

) @ 5) “@




164. Question Figures: .

FUEH I |2
Answer Figures: _

T|L| J|K

0) @ ®» @

165. Question Figures: '
1O [ ?
| Answer Figures: .

O || O | O

M ® ® @-

' Directions (Q. 166-169) which figure among
1,2,3,4 will replace the question mark according
to series. - s

166 Question Figures:

|
8838

Answer Figures:

g B

’ ¢y @) (4)'
167. Question Figures: | :
O] ?

S

&)

- -Answer Figures:

1©

O
168. Question Figures:

@

&
6)
‘ 3) |

N
rd

v

N

I

A 4
e-—

Answer Figures:

BEEE=

o 0

164. A& fo'3q

| F Il 2
Foa sy
T| L J I K
‘ _ o O ® @
165. yus fo3g
@) o F= ?
ongr=E g
) @ ) @

faaew (YmS 166-169) fear s wigwa feasy 1,
2, 3»@4%@%‘@%?@@

WA .
166. yrs fo3e L _
| B2
B &8 |kl
) - N O RO
167. yAs fe'39
1OQQ)] ?
OO0
Y I)) [©) @
168. yrs fa'3q
O VB EHL 2
, ' —
' B

1

23 -



169. Question Figures‘: -

Answer Figures:

\

- 169. Y& feaq

aelr

Q“—afa‘sa

@

|

(D

R

Q) .

(O)

£

€45

)

(2

3

@

Directions (Q. 170-17 1) In square/ circular paper
has been folded as shown with the dotted lines in
the given figures. The last figure shows how the

paper has been cut. How would the paper look.

like when unfolded.
170. Question Figures:

Answer Figures

(]
0 °O
O [+

°°

(1) (2) (3) (4)

~ 171. Question Figures:

R

Answer Figures:

[SSEE

»n» @ 6 @
Directions In questions 172-174 problem
figure is incomplete. Find correct
- alternative to complete problem figure.

172. Question Figures:

O* O*'
AN
*\
: N de
Answer Figures: _
. NINNO O
*\% ~4 4
o DN

n @ 0 @

 fagew (s 170-171) fe'9 fexr <dar/di® Tvam

€ 293 3 fig duret € 375575 A famr 3,
fa? fa fa'3q fe's somfeonr faprr 3, fea fen &
Mﬁﬁaémmmﬁlmm
@tﬁafaﬁfﬂwm?

170. yua fo'se

@»m @ 06 Q)
171. yas fa'se |

SECACED]

| m @ 6 @
fsgew yus 172-174 &' mifror fo'39 »igar 31
mifr 539 § yor a9 wet €39 fe'get o9

ORI

Wt feamy < §Zad
172. yus fo'3q
T
N\
*\‘ |
‘ o1
. ©) o/ '
* \% ~ O/ O

O @ & @&



173. Question Figures:

?
Answer Figures:
NINININ
| om0 6 @
174. Question Figures: ‘
Answer Figures:
€)) @ 03 @

Directions (Q. 175-176) If a mirror is placed on

the line AB then which of the answer figure is
the correct image of the given figure? '

175. Question Figures:

JALKI
. . B . :
Answer Figures: - '
TAJKI | IKLAJ | DILAT | DLIAT
¢)) @ 3

176. Question Figures:

Al

Q)

Answer Figures:

AlA

o @

@

173. yas fe3e

K

om0 @
174. ya& fese
SECACEL]

P | & 2N

(¢)) 2 3 @

ﬁw@u(qﬁs 175-176) AT SoUE § 3UTAB QuT
I 7@ 3t I3 fafont fa ¥ fawer fo'ge fie2
I® fo'ge e siwr yHfaw JRer?

- 175. yus fa'se
Al
g‘JALKI
BiL
@ssfdas
TAIKI | IKLAJ | DILAU | DLIAU
. @ 0 @
176. yu& fa'se ‘
- LE kB
@ & @

25
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" Directions:- In (177-180) qﬁestion figure is fooew (t{a?# 177-180) fe&s yus fo'3z9, €39
embedded in one of the answer figure. Find the fe'get &9 fan o' &9 gfwenr Sfewr 3 fam

correct one in which it is embedded. v . fegfeasfrnrd QHE‘T - g ai'l
177. Q\iestion Figures: ‘ » . | 177. qn?;fa*aa
Answer Figures: - ggafesa
@ @ N 7 |j: | " E ; : /\ 7 'j
O @ ® @ \ 0) ® ® @
'178. Question Figures: . 178. yus fe'3e |
- Answer Figures: - ' | CECACES
() B ) N ©) B © O T © B O RO
179. Question Figures: - » 179. yus fe'se |

X

. Answer Figures: S ' ECACES]

Ol | Ol @[ &
@ @ G @ B M @ G) O
180. Question Figures: | . 180. uﬁgfg"g;,— ' :

&
&

>

Answer Figures: ‘ | | e fase B
(eeEE [(oeEE

) () & - @ . ) @ &) @
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